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CTET Paper 1 – 30 December (Memory Based)  
 

CTET Paper 1 : CDP 

 

Q1. Who gave this definition? 

 “The Psychology is the most basic science of Education” 

 Ans: Skinner 

 

Q2. School is an institution of socialization of children 

 Ans: School children occupy the central position 

 

Q3. These are the mental representations or concepts given by Piaget. 

 Ans: Schema 

 

Q4. It means the development of intellectual, emotional and social abilities in a child so that he/she is 

capable of facing the demands and challenges of everyday life. 

 Ans: Holistic development 

 

Q5. Choose the description that best represents diversity  

 Ans: It accepts differences among people 

 

Q6. For which group of learners, sign language method is most appropriate? 

 Ans: Visual impairment 

 

Q7. The phases of motivational cycle include 

 Ans: Need, Drive, Reward 

 

Q8. In _____ the role of measurement is to provide an overview or achievement across a number of sills. 

 Ans: Summative evaluation 

 

Q9. The last stage of Kohlberg’s moral development theory is  

 Ans: The universal ethical principal 

 

Q10. The fact that children require culturally relevant knowledge and skills is attributed to 

 Ans: Lev Vygotsky 
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CTET Paper 1 :  Mathematics 
 

Q1. Find the LCM of 36, 54, 90 

 Ans: 540 

 

Q2. What will come in the unit’s digit when 5432 is multiplied by 7? 

 Ans: 4 

 

Q3. What will be the most correct process for multiplying 12.25 by 1.25 

 Ans: Visual method 

 

Q4. Find the difference of LCM and HCF of 36, 54, 60? 

 Ans: 534 

 

Q5. Find the ratgio of the area of a circle of radius 5m and 3m? 

 Ans: 7854 : 2827 

 

Q6. There is 15 liter juice in a bucket, if it is filled in two glasses 100ml and 150 ml, then how many 

glasses will be needed to fill the whole juice? 

 Ans: 30 

 

Q7. A girl catches a bus to office at 6:40 AM, it takes her 20 minutes to cook, 10 minutes to get her 

ready , 10 minutes to go to the bus stand, and she sleeps for 7 hours, so what is the girl’s sleeping 

time? 

 Ans: 11 : 00 PM 

 

 

CTET Paper 1 :  EVS 
 

Q1. What is recorded in the Red Data Book? 

 Ans: Endangered and rare species of plants and animals  

 

Q2. Which one of the following is an Indoor plant? 

 Ans: Snake plant 

 

Q3. What is an important of Field trip? 

 Ans: It enhances students critical thinking skills 

 

Q4. It is a method of removing chaff from grains by blowing air 

 Ans: Winnowing 

 

Q5. Which is the oldest National Park of India? 

 Ans: Jim Corbett National Park 
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Q6. Which of the following Indian state does not touch the boundary of any coastal area? 

 Ans: Telangana 

 

Q7. Onam is a festival of the state 

 Ans: Kerala 

 

Q8. Which one of the following is India’s hot and cold desrt? 

 Ans: Hot – Thar desert 

 Cold – Ladakh  
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